
All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Replaces Jacobsen HR-5111 Parts
Rotary Mower
Rotary Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

Filters

10 R555773 350993,
555773 Baldwin Oil Filter 1

11 R549633 549633 Baldwin Filter - Air Element 1

11 RRF10203 549633 SilverGuard Filter - Air Element 1

Rotary Blades

20 R391039 391039,
4186581 Mower Blade - LH 4

21 R391040 391040,
4186582 Mower Blade - RH 3

22 R391039M Mower Blade - LH Gator Mulcher 4

Caster Wheels

40 R101170
1003769,
4127119,
4138579

Tire & Wheel - Foam Filled 11x4.00-5 Reliance Smooth Sp &
5x3.25 4.75 C Cl 10

Gauges & Controls

60 R162723 162723,
358825 Meter - Hour 1

61 R27-2360 1000348,
131095 Switch - Key 6 Lead 9/16 Mount 1

Other Parts Available

70 R3290-384
3004894,
361391,
469009601

Pin - Lynch Heavy Duty 3

71 R366593 366593 Spacer - 1/8 Caster Wheel 2

72 R365772 363537,
365772 Spacer - Caster Wheel 1/2 20

Replaces Jacobsen HR-5111 Parts
Rotary Mower
Rotary Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Order
Quantity

73 R443110
306562,
443110,
444762

Nut - 3/8-16 Hex 14

74 R3254-6
3254-6,
446140,
446142

Washer - Lock 3/8 14

75 R132598 1001885,
132598 Blade - Adapter Assy 7

76 R400264 400264 Bolt - Hex HD 3/8-16 x 1-1/4 14

77 R446154 446152,
446154 Washer - Lock 1/2 7

78 R400410 400410 Bolt - Hex HD 1/2-13 x 1-3/4 7

79 R101172 101172 Bearing - Castor Wheel 2

Replaces Jacobsen HR-5111 Parts
Rotary Mower
Rotary Parts


